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HBiE1 JI= 6.2 J2= 6.0 J3= 6.3 J4= 6.3 J8= 8.000 J9= 8.000 J10= 8.000 D= 6.8 Pen= T= 35.300
1 B2 JI= 6.7 J2= 6.5 J3= 6.7 J4= 6.4 J8= 7.900 J9= 7.900 J10= 7.900 D= 6.8 Pen= T= 35.800 71.100
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JBAL &4 #hw [ LBINTV R ] B KW [ LRINVRI e ] Total
Bil JI= 6.9 J2= 74 J3= 6.5 J4= 7.2 J8= 5.400 J9= 5.400 J10= 5,400 D= 7.7 Pen= T= 32.600
2 B2 JI= 6.9 J2= 7.0 J3= 6.7 J4= 7.0 J8= 7.900 J9= 7.900 J10= 7.900 D= 7.7 Pen= T= 37.400 70.000
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JEAL 7R A [ MFvRYr 257 KITAMI ] R OB [ BNV RILITT ] otal
Hi1 JI= 6.8 J2= 6.0 J3= 6.6 J4= 6.4 J8= 6.900 J9= 6.900 J10= 6.900 D= 0.0 Pen= T= 26.800
3 B2 JI= 6.9 J2= 7.0 J3= 7.0 J4= 7.0 J8= 8.600 J9= 8.600 J10= 8.600 D= 7.3 Pen= T= 38.500 65.300
VTR e b Fht
JEAL /R 2= [ BENVRIVEHE ] B5Hn ik [ RGEN VRS ] Total
Bl JI= 4.8 J2= 5.2 J3= 4.6 J4= 5.4 J8= 5.600 J9= 5.600 J10= 5.600 D= 0.0 Pen= T= 21.200
4 B2 JI= 7.0 J2= 6.6 J3= 6.9 J4= 6.7 J8= 8.900 J9= 8.900 J10= 8.900 D= 7.1 Pen= T= 38.500 99.700
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Bil JI= 7.2 J2= 7.5 J3= 7.3 J4= 1.5 J8=9.300 J9= 9.300 J10= 9.300 D= 7.1 Pen= T= 40.500
5 B2 JI= 3.8 J2= 3.9 J3= 3.6 J4= 3.9 J8= 4.500 J9= 4.500 J10= 4,500 D= 0.0 Pen= T= 16.700 57.200
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Bl JI= 1.4 J2= 1.6 J3= 1.4 J4= 1.7 J8= 1.900 J9= 1.900 J10= 1.900 D= 0.0 Pen= T= 6.800
6 B2 JI= 7.2 J2= 7.5 J3= 7.2 J4= 7.5 J8= 8.700 J9= 8.700 J10= 8.700 D= 7.6 Pen= T= 39.700 46.500
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JEAE —p— [ £ RICBE ] WAE &E [ LMV RIVEHS ] Total
HBi1r JI= 0.5 J2= 0.5 J3= 0.6 J4= 0.5 J8= 0.800 J9= 0.800 J10= 0.800 D= 0.0 Pen= T= 2.600
T B2 Ji= 14 J2= 1.2 3= 13 J4= 1.2 J8= 0.900 J9= 0.900 J10= 0.900 D= 0.0 Pen= 1= 4300 6.900
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